Then the master called the servant in. “You
wicked servant,” he said. ‘I canceled all that debt
of yours because you begged me to” What did
the master tell the servant he should have done?
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Peter came to Jesus and asked, “Lord,

The Parable of the Unmerciful Servant

how many

times shall I forgive someone who sins against me?
Up to 7 times?” How did Jesus answer?

Connect the dots and read the words along the way.
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Then Jesus told His disciples a parable.

What happened next?

Use the code to fill in the blanks. Write all of the 1’s in order. Then return to the top
and write all of the 2’s in order. Then return to the top and
a@n@mmnOKQMQKQBanomexe’ write all of the 3’s in order. Do the same with the 4’s.
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